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UNIVERSITY OF NORTH BENGAL 

B.Com. Programme 3rd Semester Examination, 2023 

DSC5-COMMERCE 

INCOME TAX-LAWS AND PRACTICE 

OLD SYLLABUS 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks.

 GROUP-A /  / खÁड-क  

 Answer any two questions 

 

कुनै दुईवटा ÿĳका उ°र लखे 

12×2 = 24 

1. Mr. M. Ghosh, a private sector employee, furnishes the following salary details 
for the assessment year 2023-24. Compute his Gross Income from Salary for the 
said assessment year under the Old Tax Regime: 

 Basic Pay 40,000 p.m. 

 Dearness allowance @ 20% of basic pay 

 Medical allowance @ 700 p.m. 

 Children Education Allowance @ 400 p.m. for each of his three children 
(During the concerned previous year, his actual expenditure for the 
education of the children was 11,20,000 

 Conveyance Allowance 800 p.m. to meet expenses of journey between 
home and office plus 10,000 to discharge an official duty, in which his 
actual conveyance expenditure amounted to 11,800  

 Puja bonus- 8,000 

 His employer provided him a residential accommodation (owned by the 
employer) in Kolkata along with some furniture (owned by the employer) 
costing 3,50,000. 

12 

   

2. Mr. A, resident individual, has two houses which are let out for residential 
purpose. Particulars of these properties relating to the previous year 2022-23 are 
given below. Find his Income from House Property for the Assessment Year 
2023-24: 

12 
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  House-I House-II 

Situated in Kolkata Siliguri 

 Rs. Rs. 

Municipal Value 90,000 1,19,000 

Fair Rent 1,08,000 1,06,000 

Standard Rent 92,000 1,20,000 

Unrealized rent 5,000 6,000 

Expenses to collect rent Nil 2,000 

Insurance premium of the houses 1,000 1,100 

Interest on loan taken for repairing the property Nil 24,000 

Municipal tax (including water tax @ 2%) 9% 7% 

Vacancy period 1 month 2 months 
 

 

 Additional Information: 
(i) House-I and House-II are let out @ Rs. 9,300 and Rs. 11,000 p.m. 

respectively 

(ii) Municipal tax of House-I: It has been paid by the landlord. He also paid an 
arrear tax of Rs. 4,000 relating to 2021-22 

(iii) Municipal Tax of House-II: Rs. 2,180 for the year 2022-23 is outstanding 
Rs. 3,000 is paid by the occupier and the balance is paid by the owner. 

 

   
3. The following is the Profit & Loss Account of a merchant for the year ending 

31.03.2023: 
12 

 Profit & Loss Account 

 Rs.  Rs. 

To Office Salary 2,06,500 By Gross Profit 4,36,750 

To Bad debt written off 1,700 By Commission  
(in connection with a 
consignment business) 

1,250 

To Provision for Bad Debts 3,000 

To Advertisement 53,800 

To Fire Insurance Premium  (for 
personal house property) 

550 By Discount 500 

By Sundry Receipts 200 

To General Expenses 52,750 By rent of Building 3,600 

To Depreciation 1,200 By Profit on Sale of 
Investment 

3,000 

To Interest on Capital 2,000 

To Interest on Bank Loan (Due) 1,300   

To Net Profit 1,22,500   

 4,45,300  4,45,300 

Compute the taxable profits from business of the merchant for the Assessment 
Year 2023-24 considering that: 
(i) Allowable amount of depreciation is Rs. 1,400 
(ii) Opening stock for the year amounting Rs. 54,000 was undervalued by 10%. 
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4. How would you determine the residential status of an individual under the 
Income Tax Act? In this connection also explain the incidence of tax liability. 

7+5 

 Income Tax Act residential status
incidence of tax liability  

 

 आयकर ऐन अÆतगªत एक Óयिĉको आवासीय िÖथित कसरी िनधाªरण गनुªहòÆछ ? यस सÌबÆधमा कर 
दाियÂवको घटनाहł पिन Óया´या गनुªहोस् । 

 

   

 GROUP-B / / खÁड-ख  

5.   Answer any four questions: 6×4 = 24 
   

 कुनै चारवटा ÿĳका उ°र लेख  

(a) Give twelve examples of incomes which are totally exempt from income tax. 6 

   

 आयकरबाट पूणªतया छुट भएका आयहłको बाĆ उदाहरणहł िदनहुोस् ।  

(b) Mr. B. Sen purchased a residential house during the previous year 2001-02 for 
Rs. 40 lakhs and sold it for Rs. 2 crores during the previous year 2022-23. He 
purchased two houses worth Rs. 36 lakhs each on February 21, 2023. Calculate 
taxable capital gain u/s 54 for the assessment year 2023-24. 

6 

(c) Write a short note on Deduction u/s 80C. 6 

 “Deduction u/s 80C”  

 Section 80C अÆतगªत कटौतीमा छोटो िटÈपणी ले´नहुोस् ।  

(d) How agricultural income is treated for income tax purpose? 6 

   

 आयकर उĥेÔयको लािग कृिष आय कसरी Óयवहार गåरÆछ ?  

(e) Write a short note on “set-off and carry forward of losses”. 6 

 “set-off and carry forward of losses”   

 ‘Set-off’ र ‘Carry forward of losses’ मा छोटो िटÈपणी गनुªहोस् ।  

(f) WDV of block of Plant & Machinery on 01.04.2022 was 5,95,000. During the 
year 2022-23 a new item costing Rs. 1,50,000 was acquired in May, 2022 and an 
item was sold on 15.09.2022 for Rs. 79,000. Calculate the WDV of this block of 
assets and calculate the depreciation @ 15% in relation to the assessment year 
2023-24. 

6 

   

 GROUP-C / / खÁड-ग  

6. Answer any four questions: 3×4 = 12 

   

 कुनै चारवटा ÿĳका उ°र लेख  

(a) What do you mean by the term “Previous Year”? 3 

 “Previous Year”   

 Previous Year भनेको के हो ?  
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(b) Calculate the taxable amount in connection with R.P.F if following is provided 
by the assessee: 

(i) Pay: @ Rs. 40,000 p.m., (ii) Commission received by him on the basis of 
turnover achieved by him: Rs. 1,36,000, (iii) Employer’s contribution to R.P.F: 
@ 13% of Salary, (iv) Interest (@ 12% p.a.) credited to R.P.F during the year: 
Rs. 64,000. 

3 

(c) What do you mean by a house property deemed to be let-out? 3 

 House property deemed to be let-out   

 House property deemed to be let-out भÆनाले के ब»ुन ुहòÆछ ?  

(d) Differentiate between Short-term and Long-term Capital Gain. 3 

 Capital Gain   

 अÐपकालीन र दीघªकालीन पुजँीगत लाभ बीचको िभÆनता ले´नहुोस् ।  

(e) Give six examples of income falling under the category of Income from Other 
Sources. 

3 

 “Income from Other Sources”   

 अÆय ąोतबाट आयको वगªमा पन¥ आयको छ वटा उदाहरणहł िदनहुोस् ।  

(f) The Taxable Income of a resident individual (Aged: 52 years), for the previous 
year 2022-23, is Rs. 17,53,589 (after allowing deductions u/s 80C). 

Compute his Tax Liability for the assessment year 2023-24. 

3 

 
——×—— 

 

 


